



2024-25 NC Need-Based Scholarship Program for Public Colleges and Universities  
Report to the Joint Legislative Education Oversight Committee  
December 1, 2025

ELIGIBLE POSTSECONDARY INSTITUTION FALL & SPRING	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD
<b>NC Community Colleges</b>			
ALAMANCE COMMUNITY COLLEGE	1,419	\$285.85	\$405,627.00
ASHEVILLE BUNCOMBE TECHNICAL CC	1,465	\$300.08	\$439,625.00
BEAUFORT COUNTY COMMUNITY COLLEGE	652	\$286.00	\$186,476.00
BLADEN COMMUNITY COLLEGE	602	\$281.31	\$169,349.00
BLUE RIDGE COMMUNITY COLLEGE	641	\$245.34	\$157,266.00
BRUNSWICK COMMUNITY COLLEGE	553	\$282.66	\$156,316.00
CALDWELL CC AND TECHNICAL INSTITUTE	1,191	\$284.16	\$338,444.00
CAPE FEAR COMMUNITY COLLEGE	2,378	\$323.41	\$769,078.00
CARTERET COMMUNITY COLLEGE	555	\$252.55	\$140,166.00
CATAWBA VALLEY COMMUNITY COLLEGE	1,289	\$296.66	\$382,396.00
CENTRAL CAROLINA COMMUNITY COLLEGE	1,520	\$279.52	\$424,880.00
CENTRAL PIEDMONT COMMUNITY COLLEGE	6,213	\$250.62	\$1,557,161.00
CLEVELAND COMMUNITY COLLEGE	1,083	\$254.33	\$275,449.00
COASTAL CAROLINA COMMUNITY COLLEGE	1,196	\$271.52	\$324,738.00
COLLEGE OF THE ALBEMARLE	519	\$224.47	\$116,500.00
CRAVEN COMMUNITY COLLEGE	892	\$240.38	\$214,425.00
DAVIDSON DAVIE COMMUNITY COLLEGE	1,610	\$292.19	\$470,435.00
DURHAM TECHNICAL COMMUNITY COLLEGE	1,891	\$290.71	\$549,740.00
EDGECOMBE COMMUNITY COLLEGE	901	\$337.92	\$304,470.00
FAYETTEVILLE TECHNICAL COMMUNITY COLLEGE	4,236	\$294.76	\$1,248,609.00
FORSYTH TECHNICAL COMMUNITY COLLEGE	4,036	\$292.66	\$1,181,178.00



ELIGIBLE POSTSECONDARY INSTITUTION FALL & SPRING	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD
<b>NC Community Colleges</b>			
GASTON COLLEGE	1,667	\$280.86	\$468,209.00
GUILFORD TECHNICAL COMMUNITY COLLEGE	5,530	\$271.87	\$1,503,461.00
HALIFAX COMMUNITY COLLEGE	314	\$260.57	\$81,819.00
HAYWOOD COMMUNITY COLLEGE	417	\$324.07	\$135,139.00
ISOTHERMAL COMMUNITY COLLEGE	785	\$257.44	\$202,098.00
JAMES SPRUNT COMMUNITY COLLEGE	546	\$282.67	\$154,341.00
JOHNSTON COMMUNITY COLLEGE	1,513	\$247.94	\$375,140.00
LENOIR COMMUNITY COLLEGE	929	\$368.76	\$342,582.00
MARTIN COMMUNITY COLLEGE	205	\$224.08	\$45,937.00
MAYLAND COMMUNITY COLLEGE	206	\$253.09	\$52,138.00
MCDOWELL TECHNICAL COMMUNITY COLLEGE	385	\$230.32	\$88,674.00
MITCHELL COMMUNITY COLLEGE	920	\$249.82	\$229,842.00
MONTGOMERY COMMUNITY COLLEGE	282	\$273.07	\$77,008.00
NASH COMMUNITY COLLEGE	1,046	\$266.42	\$278,685.00
PAMLICO COMMUNITY COLLEGE	92	\$267.03	\$24,567.00
PIEDMONT COMMUNITY COLLEGE	441	\$285.41	\$125,869.00
PITT COMMUNITY COLLEGE	3,182	\$313.15	\$996,455.00
RANDOLPH COMMUNITY COLLEGE	920	\$224.70	\$206,724.00
RICHMOND COMMUNITY COLLEGE	820	\$216.79	\$177,770.00
ROANOKE-CHOWAN COMMUNITY COLLEGE	122	\$223.91	\$27,318.00
ROBESON COMMUNITY COLLEGE	1,077	\$222.81	\$239,968.00
ROCKINGHAM COMMUNITY COLLEGE	421	\$259.49	\$109,248.00
ROWAN-CABARRUS COMMUNITY COLLEGE	1,840	\$245.87	\$452,418.00
SAMPSON COMMUNITY COLLEGE	608	\$240.06	\$145,961.00
SANDHILLS COMMUNITY COLLEGE	1,163	\$229.31	\$266,694.00
SOUTH PIEDMONT COMMUNITY COLLEGE	728	\$242.83	\$176,786.00
SOUTHEASTERN COMMUNITY COLLEGE	558	\$235.05	\$131,159.00



ELIGIBLE POSTSECONDARY INSTITUTION FALL & SPRING	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD
<b>NC Community Colleges</b>			
SOUTHWESTERN COMMUNITY COLLEGE	648	\$266.89	\$172,949.00
STANLY COMMUNITY COLLEGE	812	\$265.96	\$215,962.00
SURRY COMMUNITY COLLEGE	791	\$256.15	\$202,615.00
TRI-COUNTY COMMUNITY COLLEGE	283	\$247.47	\$70,035.00
VANCE-GRANVILLE COMMUNITY COLLEGE	836	\$238.06	\$199,021.00
WAKE TECHNICAL COMMUNITY COLLEGE	7,530	\$284.08	\$2,139,193.00
WAYNE COMMUNITY COLLEGE	1,109	\$225.64	\$250,241.00
WESTERN PIEDMONT COMMUNITY COLLEGE	652	\$303.19	\$197,683.00
WILKES COMMUNITY COLLEGE	768	\$293.47	\$225,385.00
WILSON COMMUNITY COLLEGE	560	\$296.15	\$165,846.00
<b>Total</b>	<b>75,548</b>	<b>\$274.88</b>	<b>\$20,767,268.00</b>

ELIGIBLE POSTSECONDARY INSTITUTION SUMMER	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD
<b>NC Community Colleges</b>			
ALAMANCE COMMUNITY COLLEGE	412	\$123.50	\$50,883.00
ASHEVILLE BUNCOMBE TECHNICAL CC	373	\$131.74	\$49,141.00
BEAUFORT COUNTY COMMUNITY COLLEGE	134	\$132.61	\$17,771.00
BLADEN COMMUNITY COLLEGE	172	\$147.20	\$25,320.00
BLUE RIDGE COMMUNITY COLLEGE	28	\$308.39	\$8,635.00
BRUNSWICK COMMUNITY COLLEGE	83	\$107.67	\$8,937.00
CALDWELL CC AND TECHNICAL INSTITUTE	294	\$140.04	\$41,172.00
CAPE FEAR COMMUNITY COLLEGE	694	\$147.52	\$102,385.00
CARTERET COMMUNITY COLLEGE	98	\$137.34	\$13,460.00
CATAWBA VALLEY COMMUNITY COLLEGE	197	\$169.96	\$33,484.00
CENTRAL CAROLINA COMMUNITY COLLEGE	313	\$117.15	\$36,668.00



ELIGIBLE POSTSECONDARY INSTITUTION SUMMER	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD
<b>NC Community Colleges</b>			
CENTRAL PIEDMONT COMMUNITY COLLEGE	1,630	\$116.54	\$189,970.00
CLEVELAND COMMUNITY COLLEGE	187	\$109.20	\$20,421.00
COASTAL CAROLINA COMMUNITY COLLEGE	416	\$120.00	\$49,922.00
COLLEGE OF THE ALBEMARLE	133	\$121.42	\$16,150.00
CRAVEN COMMUNITY COLLEGE	213	\$135.52	\$28,866.00
DAVIDSON DAVIE COMMUNITY COLLEGE	396	\$144.89	\$57,379.00
DURHAM TECHNICAL COMMUNITY COLLEGE	445	\$142.57	\$63,447.00
EDGECOMBE COMMUNITY COLLEGE	229	\$140.88	\$32,263.00
FAYETTEVILLE TECHNICAL COMMUNITY COLLEGE	335	\$271.61	\$90,992.00
FORSYTH TECHNICAL COMMUNITY COLLEGE	1,245	\$130.96	\$163,050.00
GASTON COLLEGE	427	\$152.51	\$65,123.00
GUILFORD TECHNICAL COMMUNITY COLLEGE	1,417	\$134.05	\$189,950.00
HALIFAX COMMUNITY COLLEGE	76	\$127.40	\$9,683.00
HAYWOOD COMMUNITY COLLEGE	84	\$122.51	\$10,291.00
ISOTHERMAL COMMUNITY COLLEGE	227	\$132.29	\$30,031.00
JAMES SPRUNT COMMUNITY COLLEGE	172	\$120.96	\$20,806.00
JOHNSTON COMMUNITY COLLEGE	369	\$113.23	\$41,783.00
LENOIR COMMUNITY COLLEGE	317	\$189.76	\$60,156.00
MARTIN COMMUNITY COLLEGE	29	\$98.79	\$2,865.00
MAYLAND COMMUNITY COLLEGE	48	\$72.91	\$3,500.00
MCDOWELL TECHNICAL COMMUNITY COLLEGE	101	\$131.40	\$13,272.00
MITCHELL COMMUNITY COLLEGE	216	\$104.03	\$22,471.00
MONTGOMERY COMMUNITY COLLEGE	61	\$96.37	\$5,879.00
NASH COMMUNITY COLLEGE	176	\$119.79	\$21,084.00
PAMLICO COMMUNITY COLLEGE	20	\$221.30	\$4,426.00
PIEDMONT COMMUNITY COLLEGE	99	\$186.81	\$18,495.00
PITT COMMUNITY COLLEGE	1,003	\$160.25	\$160,734.00



ELIGIBLE POSTSECONDARY INSTITUTION SUMMER	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD
<b>NC Community Colleges</b>			
RANDOLPH COMMUNITY COLLEGE	225	\$101.44	\$22,824.00
RICHMOND COMMUNITY COLLEGE	249	\$99.71	\$24,828.00
ROANOKE-CHOWAN COMMUNITY COLLEGE	35	\$99.37	\$3,478.00
ROBESON COMMUNITY COLLEGE	302	\$109.28	\$33,005.00
ROCKINGHAM COMMUNITY COLLEGE	82	\$93.39	\$7,658.00
ROWAN-CABARRUS COMMUNITY COLLEGE	318	\$100.06	\$31,820.00
SAMPSON COMMUNITY COLLEGE	197	\$102.63	\$20,220.00
SANDHILLS COMMUNITY COLLEGE	288	\$100.26	\$28,877.00
SOUTH PIEDMONT COMMUNITY COLLEGE	2	\$75.00	\$150.00
SOUTHEASTERN COMMUNITY COLLEGE	156	\$114.22	\$17,819.00
SOUTHWESTERN COMMUNITY COLLEGE	119	\$128.00	\$15,233.00
STANLY COMMUNITY COLLEGE	221	\$141.49	\$31,270.00
SURRY COMMUNITY COLLEGE	156	\$103.32	\$16,118.00
TRI-COUNTY COMMUNITY COLLEGE	85	\$105.04	\$8,929.00
VANCE-GRANVILLE COMMUNITY COLLEGE	202	\$96.14	\$19,422.00
WAKE TECHNICAL COMMUNITY COLLEGE	1,822	\$134.64	\$245,320.00
WAYNE COMMUNITY COLLEGE	1	\$531.00	\$531.00
WESTERN PIEDMONT COMMUNITY COLLEGE	140	\$117.13	\$16,399.00
WILKES COMMUNITY COLLEGE	182	\$122.53	\$22,302.00
WILSON COMMUNITY COLLEGE	135	\$150.64	\$20,337.00
<b>Total</b>	<b>17,786</b>	<b>\$133.10</b>	<b>\$2,367,405.00</b>

ELIGIBLE POSTSECONDARY INSTITUTION	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD
<b>NC Community Colleges - Smoothing Transitional Funding</b>			
ALAMANCE COMMUNITY COLLEGE	4	\$1,443.00	\$5,772.00
ASHEVILLE BUNCOMBE TECHNICAL CC	14	\$1,523.00	\$21,322.00
BEAUFORT COUNTY COMMUNITY COLLEGE	1	\$2,218.00	\$2,218.00
BLADEN COMMUNITY COLLEGE	1	\$2,210.00	\$2,210.00
BLUE RIDGE COMMUNITY COLLEGE	5	\$1,788.60	\$8,943.00
BRUNSWICK COMMUNITY COLLEGE	4	\$1,273.25	\$5,093.00
CALDWELL CC AND TECHNICAL INSTITUTE	7	\$1,305.28	\$9,137.00
CAPE FEAR COMMUNITY COLLEGE	14	\$1,549.50	\$21,693.00
CARTERET COMMUNITY COLLEGE	3	\$1,576.33	\$4,729.00
CATAWBA VALLEY COMMUNITY COLLEGE	11	\$1,761.09	\$19,372.00
CENTRAL CAROLINA COMMUNITY COLLEGE	5	\$1,412.20	\$7,061.00
CENTRAL PIEDMONT COMMUNITY COLLEGE	33	\$1,582.72	\$52,230.00
CLEVELAND COMMUNITY COLLEGE	2	\$1,355.50	\$2,711.00
COLLEGE OF THE ALBEMARLE	3	\$1,390.66	\$4,172.00
CRAVEN COMMUNITY COLLEGE	3	\$1,735.00	\$5,205.00
DAVIDSON DAVIE COMMUNITY COLLEGE	10	\$1,232.80	\$12,328.00
DURHAM TECHNICAL COMMUNITY COLLEGE	5	\$904.00	\$4,520.00
FAYETTEVILLE TECHNICAL COMMUNITY COLLEGE	8	\$1,687.50	\$13,500.00
FORSYTH TECHNICAL COMMUNITY COLLEGE	19	\$1,236.84	\$23,500.00
GASTON COLLEGE	4	\$1,580.00	\$6,320.00
GUILFORD TECHNICAL COMMUNITY COLLEGE	26	\$1,566.73	\$40,735.00
HAYWOOD COMMUNITY COLLEGE	1	\$1,277.00	\$1,277.00
ISOTHERMAL COMMUNITY COLLEGE	7	\$1,825.14	\$12,776.00
JAMES SPRUNT COMMUNITY COLLEGE	1	\$462.00	\$462.00
JOHNSTON COMMUNITY COLLEGE	9	\$1,430.22	\$12,872.00



ELIGIBLE POSTSECONDARY INSTITUTION	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD
<b>NC Community Colleges - Smoothing Transitional Funding</b>			
MCDOWELL TECHNICAL COMMUNITY COLLEGE	1	\$1,050.00	\$1,050.00
MITCHELL COMMUNITY COLLEGE	9	\$1,744.55	\$15,701.00
NASH COMMUNITY COLLEGE	2	\$1,082.50	\$2,165.00
PIEDMONT COMMUNITY COLLEGE	2	\$637.00	\$1,274.00
PITT COMMUNITY COLLEGE	11	\$1,056.63	\$11,623.00
RANDOLPH COMMUNITY COLLEGE	5	\$970.80	\$4,854.00
RICHMOND COMMUNITY COLLEGE	2	\$2,248.00	\$4,496.00
ROANOKE-CHOWAN COMMUNITY COLLEGE	1	\$1,849.00	\$1,849.00
ROBESON COMMUNITY COLLEGE	2	\$1,303.50	\$2,607.00
ROWAN-CABARRUS COMMUNITY COLLEGE	14	\$1,006.35	\$14,089.00
SAMPSON COMMUNITY COLLEGE	2	\$1,274.50	\$2,549.00
SANDHILLS COMMUNITY COLLEGE	7	\$1,580.14	\$11,061.00
SOUTH PIEDMONT COMMUNITY COLLEGE	3	\$661.33	\$1,984.00
SOUTHWESTERN COMMUNITY COLLEGE	6	\$1,572.33	\$9,434.00
SURRY COMMUNITY COLLEGE	1	\$2,190.00	\$2,190.00
TRI-COUNTY COMMUNITY COLLEGE	2	\$882.50	\$1,765.00
VANCE-GRANVILLE COMMUNITY COLLEGE	1	\$1,647.00	\$1,647.00
WAKE TECHNICAL COMMUNITY COLLEGE	67	\$1,452.38	\$97,310.00
WAYNE COMMUNITY COLLEGE	5	\$1,810.40	\$9,052.00
WESTERN PIEDMONT COMMUNITY COLLEGE	2	\$948.50	\$1,897.00
WILKES COMMUNITY COLLEGE	6	\$1,514.66	\$9,088.00
WILSON COMMUNITY COLLEGE	3	\$1,592.66	\$4,778.00
<b>Total</b>	<b>354</b>	<b>\$1,448.08</b>	<b>\$512,621.00</b>



ELIGIBLE POSTSECONDARY INSTITUTION FALL & SPRING	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD
<b>University of North Carolina System</b>			
APPALACHIAN STATE UNIVERSITY	5,119	\$3,432.21	\$17,569,532.00
EAST CAROLINA UNIVERSITY	6,524	\$2,553.84	\$16,661,288.00
ELIZABETH CITY STATE UNIVERSITY	734	\$680.07	\$499,178.00
FAYETTEVILLE STATE UNIVERSITY	2,960	\$879.49	\$2,603,306.00
NC A&T STATE UNIVERSITY	3,833	\$2,251.31	\$8,629,300.00
NC CENTRAL UNIVERSITY	3,347	\$2,194.67	\$7,345,591.00
NC STATE UNIVERSITY	5,530	\$3,466.48	\$19,169,640.00
UNC ASHEVILLE	970	\$3,422.07	\$3,319,414.00
UNC CHAPEL HILL	3,235	\$3,603.44	\$11,657,138.00
UNC CHARLOTTE	8,797	\$2,596.09	\$22,837,842.00
UNC GREENSBORO	7,602	\$2,620.98	\$19,924,727.00
UNC PEMBROKE	2,698	\$748.31	\$2,018,965.00
UNC WILMINGTON	3,578	\$2,563.90	\$9,173,669.00
UNIV OF NC SCHOOL OF THE ARTS	142	\$3,722.11	\$528,540.00
WESTERN CAROLINA UNIVERSITY	3,089	\$1,613.49	\$4,984,078.00
WINSTON SALEM STATE UNIVERSITY	2,446	\$2,237.46	\$5,472,834.00
<b>Total</b>	<b>60,604</b>	<b>\$2,514.60</b>	<b>\$152,395,042.00</b>

**Hurricane Helene Funding.** Includes \$6,702,585 in Hurricane Helene relief aid provided to Appalachian State University (\$3,847,401), UNC-Asheville (\$757,586), and Western Carolina University (\$2,097,598) via a change to the Next NC formula.

ELIGIBLE POSTSECONDARY INSTITUTION	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD
<b>University of North Carolina System - Summer</b>			
APPALACHIAN STATE UNIVERSITY	1,383	\$1,286.85	\$1,779,714.00
EAST CAROLINA UNIVERSITY	1,377	\$989.07	\$1,361,950.00
ELIZABETH CITY STATE UNIVERSITY	192	\$369.69	\$70,981.00
FAYETTEVILLE STATE UNIVERSITY	1,342	\$300.49	\$403,261.00
NC A&T STATE UNIVERSITY	930	\$843.56	\$784,518.00
NC CENTRAL UNIVERSITY	1,229	\$764.45	\$939,518.00
NC STATE UNIVERSITY	647	\$1,335.60	\$864,137.00
UNC ASHEVILLE	192	\$1,365.56	\$262,188.00
UNC CHAPEL HILL	761	\$1,326.54	\$1,009,500.00
UNC CHARLOTTE	2,438	\$1,022.75	\$2,493,469.00
UNC GREENSBORO	1,924	\$971.87	\$1,869,889.00
UNC PEMBROKE	785	\$392.59	\$308,184.00
UNC WILMINGTON	984	\$1,074.27	\$1,057,087.00
UNIV OF NC SCHOOL OF THE ARTS	1	\$988.00	\$988.00
WESTERN CAROLINA UNIVERSITY	737	\$648.17	\$477,703.00
WINSTON SALEM STATE UNIVERSITY	548	\$846.38	\$463,817.00
<b>Total</b>	<b>15,470</b>	<b>\$914.47</b>	<b>\$14,146,904.00</b>

**Hurricane Helene Funding.** Includes \$652,043 in Hurricane Helene relief aid provided to Appalachian State University (\$391,215), UNC-Asheville (\$63,354), and Western Carolina University (\$197,474) via a change to the Next NC formula.



ELIGIBLE POSTSECONDARY INSTITUTION	NUMBER OF STUDENTS	AVERAGE AWARD	TOTAL AWARD
<b>University of North Carolina System - Smoothing Transitional Funding</b>			
APPALACHIAN STATE UNIVERSITY	46	\$3,195.50	\$146,993.00
EAST CAROLINA UNIVERSITY	51	\$2,118.94	\$108,066.00
ELIZABETH CITY STATE UNIVERSITY	4	\$1,244.50	\$4,978.00
FAYETTEVILLE STATE UNIVERSITY	25	\$1,166.00	\$29,150.00
NC A&T STATE UNIVERSITY	17	\$2,234.17	\$37,981.00
NC CENTRAL UNIVERSITY	22	\$1,848.59	\$40,669.00
NC STATE UNIVERSITY	51	\$3,379.05	\$172,332.00
UNC ASHEVILLE	9	\$2,219.22	\$19,973.00
UNC CHAPEL HILL	18	\$2,698.77	\$48,578.00
UNC CHARLOTTE	83	\$2,462.67	\$204,402.00
UNC GREENSBORO	61	\$2,393.40	\$145,998.00
UNC PEMBROKE	22	\$1,697.63	\$37,348.00
UNC WILMINGTON	36	\$2,514.27	\$90,514.00
UNIV OF NC SCHOOL OF THE ARTS	1	\$3,225.00	\$3,225.00
WESTERN CAROLINA UNIVERSITY	41	\$1,966.65	\$80,633.00
<b>Total</b>	<b>487</b>	<b>\$2,404.18</b>	<b>\$1,170,840.00</b>

**Smoothing-Transitional Funding.** Changes in the 24-25 formula were necessary for the transition from federal EFC to SAI. The transitional-smoothing funding ensured that continuing students remained whole and did not lose state funding because of the transition.